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L. BHROEM®

AROHBIL, 72 A8l 502 L EnfeiRiE
FRRBZIETH D, FD1zDIT, TA) H0EHN
#HHEN1>TH5 [ MATHEMATICSPLUS|# 1
BENLLEOBTELFTAN, $72, BEAD-LED
HRELOHKLIT- 7,

2. 72U ho#ik [MATHEMATICS
PLUS] GRADE 1 o#tE

WX THR, TXYHDHEBENLDTH 2
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FCOWTRAT 2, ZOHEBENKESZ, A4
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PEIC L TL2UN—Y L HDEDT, BAEND L DI T
FEHEICE Y, 20, RELMES L, HYERIEL
THEL LT3, 72, HRBCHIEMEL D
BELFHRIADA—2HBIT LN TWENT, /—
FEELLLTL, BENEDLNDELIICE > T
3, BRECHELILIHRIBRKTELLTEY, &
FLTBLL OB E L LICEREBNRBICEBL LN
T3,

ZNHEEENERIIRNE) TH B,

1, 100 To»¥
2, 6FETHIZLETA
3, 6FETHVEZTA
4, 2L ETA
5, VEZTA
6, bbbk
7, 100F TH»¥
8, 2FTHOILEALVEZTA
9, LHBERATH
10, LA tBPh
11, 23 %2DHr TR LTALEVETA
12, 18F THL TALVEEA

ZOBKT, BARLRES R L2513, 6, 12,
BV ETHFIIFThd, BATIE, 6F T 12
FT, BEFTLV T HREW, TAYATIE, 12

%10k 2, Li3ETIC, twelve & L THKH> T3, =
g, R2EENFEZICLBLNTHY), 12 TIZDOn
TIIR) EX2 L) &SI XD THS, £ZT,
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WAEFNDENIEH S, 18F THIREIZOWTL, 12
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WIZE B,

3. LEEHADEN

¥, L LEREOHENZ, 103 TOBDTEAF LE
BizOoWTHiREYDH 5, Zhid, BELoTi ot
MELT, ETLXRPWLEZETHD, BERTIE, Zn
flliz T D& Wn2] L) AR - HENTEEIDH
b, ZOAW - HBROIREE L LEDOHEME T L
Twrdt, BERET XA HADOHEFENKELBNT
H5,

2LENFBER, KIPICWw-T, RD4DO» 5%
5,
D%z 72 L (countall, counton)
Q% #IEA
77N, F7r+1, F7r—1
@fact family (REHOFIE, BOBKIHE)
INEIEEZ B> THHELTAL I,

ZLENENZ, 2+1%1, 2, 3:%H2dL
%, 1»LIECTRTEH2ZZL T &) [count
alll»5H85FN, 2+1%22, 3:F2 T,
BE#BI72L T Ewv9 [count on] ~ & s,
6 T TOME NI NELEOFMNERETH Y Lhth,
TEMNE 0N LE, 2LTERLVWITEEZTY
»HBNIZ,
FThbbT2A)HTR, 2LE UVEHEIIEKILZ
LEERETIBIEBOTEL L >TwENTHD
FHUCKRL THAETE, A% - 2FNEL,L, ER
RIcE 2z 2T 2L 28R LT 2HAFTROIE S
Eo>Twna,

10F COMNDIEE~NEHEL EBZ 2L VI HEFR
oM 7 N]E v FHgntkEsb b, [F70]
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HK OB AR

EVINDIF3I+3=6, 4+4=8, 5+5=10&w
5 k902, EHOMERDHLIBETHY), EHOHHIL
BRZULTH2BOWMEP LERMICTEDLEEZ L
nNTWwbd L5 Thbd,
12FCHMnfg#EIcL b s, ZOEREFETIE, 2L
BLUVEHENBRICH D 3 o0 % [fact family]
1> ELTRLE - VEEDOHEIELTL) &
LTwd, ZLETHTELN*UVEHETHWSZ &
2L > T320EERDT WD, ZHEZFZRELL
TE->THITFEDIFE -,

Use cubes. Make ¢ Irain to
shaw the addition facts.

Break apart the frain to show
the subtraction facts.

5+ 1| =

| + 5= &

b—1 =
6-56=

What three numbers are in this fact fomily?

1>

g7 70] ORBELT, Z7LENDH1IKE
WEEZBIZ7N+1] (Bl 5+5=102%565+
6 =11 <X 2>) wwHEZNIGEL b D,

Use Warkmat 2. —T
Put in 5 counters.
Put in 5 mare counters. EENEEN

Wirite the addition sentence.

EEENE
5 + 5 =10
e
Put in | more counter. AEREEE
Write the addition sentence.
ENEENE

5 + 6 = 11

2>

FDW%, 20 LENIEEY L5, ZoigHEE
9, M)+ (fE+) »6 AN, 2F72& 1720
M, 237220320 EHEATH, L»L, ZD
FHEICITE ) BN kv,

BHENISE TOFMD BT THIH TN Eh) gl
HTTK B, 100272 NICHEmMIT, &) XD %
EZBHENHIRETH D, 002 E ) UADHES
BE LT, B2oLicmz, [ 7Lt nRET
BB IFTN+1]E, F7N+ 1My 7NE
DL LAZVENS[FZ7—1] BFl: 8+ 8=167
768+ 7=15) DFEIH B,

DLEDEE 1 2En LEDIRETH 5,

4, FEHEITIZOWVWT

1) 6 FTHM
COBTTIE, 2 LERREYO s 7 F— (K 3D

DESBEREDH—FRRNWG—FT, ZDHhT>

F— I HEANBRLEICHLATLLNTH D) FH

T, 12T D22 T e bLigHING,

3> DEH UV A avnBOKEH23IELI L

L HNDIFH, T4

vHHLHH T I D ... ... e

EFINEEZBHZENTE

b, 2Nk &ML 1 Ph-
2 T&Nlcount all] #47-

T b,
KiICKBERNDIREY»H D, FIziE, 1+232+
12 LTLKRDENBZZ ENFHAYH S, ZTOHTT

372 LE B A2 THD, F77 [count

all] DEFEHEE BT 3R ol 3R] X
4> 2HE-TWENTH D, BHETITZ DEREE TR

BRI Lo T, ETCLFRIIRE LN,

#43008
B3>

EE B N Em
24|=;i l+2=_3
sum sum

<X4>

0%, TCIC0NLE, SLIZAR - Bt
WHH B, B - MBI OWTIE, 22 510% TOR
IZOoWTHEEY (R5> DL ICH/K->TwaB, &
BHE LTERDANLZ LiZL Ty,

<X 5>

RICESEREDSDH LYY, B1IEEPrLEENHEAZ
NTWBEZ EItEBW, BATHBEIEEIZE S £4F
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KREDOHEEFIC BT 2E1¥FEDL LEOIFR
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1E6+20F% KDL EETHE, ZETIZ6FT
DM ERD LU THY), F 7812 % b bk
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T, #-T, #HRIL 2L DPIEL VW E ) 2 25D
HLEEE LTEEVRVWLNEDTH S,

AARL N LEE b E LT, Kook
I, BEDIIic, EEXH B, BRTIE, FE2%F
CBWTERY) XY RdIcEBEFrBLENTW BN
ZOERETE, 12 TH), Lrig)EXYD
TWEETEVIFICBWTER (X6 »BET 2
DThHb, LLZOERIZ HoLikcH A ann
BERICE~NTREZEL D, HUICENTREEL D
WO EWETTH Y, BickichrrniRE v Ry
NEHTHb,

<X 6>

ABTOEEIL, [+1,+2 | OB LDOATH
N, Bich v - 0By ELNL TS, fI
26 I THHET, 3+ 3=06LME, THENER
WBRZETI+1,+ 2082 LELTHERTH B,
[+ 1,42 0%z L &) stEITER TRV 3+
3=6I3ARk - S TES L 2kic, MBI T
ETwnw3,

2) L&A (10% Tofn)
HEAETARBTERIBITTRE(RYD EZ AT
[count all| #*& [counton] ~&ZLLTw3 &
ATHb, TDEIIELLL TSI &, <HT>D
I x4 avoHnd ) L EAMTELE
ZHIENTEL LT HY, BFTEL, 25
ZEFTELVLIRTEILOECLLELLILTS
b,

KH7>

T+1,+2] o%zzlicmz [+3] o%zzL

DIeMEYBH B, T2 THRANERNE, EHEHIFEL,
SR THTHRERMLITHON DL, (R8> L HIcHITE
HETLEZ-LPRVEnEzDI, EoBrEis
B, TOBEBZ 2> THBRENELELTE20TH
5,

ST WA
9
<X 8>

W2 LUNOHERFEE LTI [F70] v
EZEPHDL, MO I BT I—FRNTRA
TIF7n] #E224%, SBETY (7] oig#
»EH b,
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14 14 13 [3 13 ]

L L3 13 13 13 17 3

................

lllll]lllllllllllll
Put in 3 more. Trace.

3 +3 =56

These facts are called doubles.

......................
Put in 2 more. Trace.

2 +2 =14

9>
6ETOMTIEI3I+3 L IatEMILAYRbR
Tedpofedl, SO TNDEZHIEEL T, EEICH
T b&9iIck b,
FOBROEFE X10> BIEN LIFHHET, M1HT
[+4] »HTLC 5,

+lo|l1|2|3|uls|6|7|8]|
RS

olo|1|2]3 g |

I 2

2 3

33 |u|s

y [y 6

55|

6|6

7|7 9

8|89

[+ 3] FTRPIZBEFTHRELL T30 [+ 4]
IZOWTIR ZDRUIH BT v, T, HEMED
MBI, R )Pk Twb, ZOHER
g3 [+3) Ferscang, [+4]URBRLTES
LEZLNTWBDIEAH ),

ok, 7Tuv 7 (H10HER) AV, ARXER
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THRENZH - THET 2 Z 225, EHOMRICAT
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4) 201 TnLEA

ZOETII 2T N LENIRETIIH 0%, 21T
ROMESTHEY) LY DREL ) TH
5,

2 enfMnieliy, F§ 1202 EALLT
AwtT, () + (+) oFtEREs» L5 5,
AT, (202)+(13R), (2372)+(21F7)
DB IND, (2F72)+ (11F7R) T, —of
FieZBENZACTHE TS Z LiEH 25, (11T
)+ (2137:) oEtEId e <, EKicTRENE A
T (2372 + (1iFR) IKET LS L bniziv,
CITHERAINLIHEER, 9T ToaTyI—%,
AT I—EIE LIz X 2T Th DT [tens,
ones| &\ ) &RNCEDL D, 1207

7 I —X2—"7i3lones], 1081 g
Flic 7z d72 % Vi3 [tens] <M1 gg
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I ET, 2 oMIB/MT ENE E1L

BLrRZZENTEDLEIIZL>THWTNS,
AETCHERINLZ I3, SHELZTLRNICRAMED
NOIREHEINTWEIETH D, Hlzid EHI1D> »
91 [304+30=60TH B &b, 24+251360% D
KEWTL LI, AETLLIH] &) HED
»0, REL VOB TCERLE THNS,

30 EEE 24 42
+30 +25 +30
60 EEE more than 60 more than 60
less than 60 less than 60
<E12>

RO 275013, BEZORYUMLEZ 3B
HTHb, BETH, FEOHERETR, EEHL &
CRBLZZ M) ANLNTE, 22 TIIRME
LYV Z LR EFTwaiesn, BErfinEmiclt
R, ZLAWLNLTWS, ERAEIIIBE M-
TOLBOLLEWEWIFEZLDTH B,

5) BT LEA

COHTTIR, B 1¥EDN LEENENRBEOBTT
Hb, ZETF 1T 2nMERkbD2IEETHY), 22
THHTERY) L) BB T 5, BYUOEICEY) kb
N 2IETLIHEEHRD DL BANIRETH B,
%) Er) nigEE, §FToL LR, EHL
WHEFNIEETII L, EH, R wi4FTLid
WDNEFICZE»TWwb, T, 80 EX-7%%1
DEDTOMICHBET EVIFEZ RGP IRLTL TN
22017 Bbhb,

FTERHEE LTI, 7 (7] niglird b,
5+5=10, 6+ 6 =123 I N TE T\ 32D,
FiicT+7=14, 8+8=16, 9+9=18% Toig
Bhhb, CDTTVOHELEMIA T —%2H
WTENTWE, BT IF7+1]0icEsHY,
BLIZ [F7N—1] w3 FHLWEZHOfEEE L
T, 20k, B2LR, F7LnsEHENT
P2, 00072 F ) 2EZ 2FHEIHTL b, 52
TO25ic > T BHR [10n<2 | RE13> %A
T, T108 WL D %FZ 22 i) A ) gl s
Hd, tensE W) FHETRIDP D % 1FITEL
TWwizht, ZHDWD=A TR, 000725 % 25T

LT3,

OB 5 B VLT, RVEE
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I3, BEZBEDHLLDITbNRTW S,

PET LENIRMII#b 205D, BiBICRET
DOMYHEZ LNTEBY, »PITERSLLYEICOLH -
Tl EFEZ LB,

5. HEMRENRER

FHTCHEMEBEOFERICOWT, S4BT

Efht, ROXERHNT, LIPLELIRTWZ
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xi3, a+bNHEMENIEREZRTLOTHY,
BELTR) EFeonTwizgnd 328 Lo, %
ROREL VOHEREFA TV, /2, 237z
FNCOWTIZED B Denized, BT Nz L
BrLTHETEZ DT, BT LOHELS 1372 Y
ILOFEE L TERIC L, LaL, 20+10% &n—
DUTHB0+03TRICETE R EICT S,

RicoWwTLEKEP2ELTCATRS &, Buh#EDIC
ONT, MEEE I LONMTHLELDHELSHL
Pz, KEWEES LONMTHEETOHEAL
BoTWwaZ edtbdrbd, 20k, [6 FTHOM]TH
T 6 1EWM%E [10% Tofl] 610z %
(HHERETWBDIEL, 22, FTLOHET
HEMNAREZ ORI T HEHNEBEIATW
b, UL, WHMmENEAC2FEIISREN £
TWHEICKN, 29012648901 44D
oTwWb,

FHIGEZLICRTWC L, [6 2 Tof]Tid, fidr
TR8iIc%b6+1, 6+2H1EHRTETWSE, &
i3, AL R BEEANTRENHTH S, T
2,0+ 1, + 2z LofEEEr ) BETH
DRTLNDICI+I=6DHEHIIEBLETRL T3
ZEDRICTE B, TOHRIL, 6EDRIESTWE
BEE*RLHy»b, BIL A3ECFPNEENIE
B HROYGBIETH B LR, TOMTGTHIZL
ELTHETINIR+ 1, +2DATHEZ LS
TNEWG FENIRRIZ LV, ERENC3+3=6
FHLTWBEELDLZENTESL, FTNENVIE
FENRHMIZ, ko [10% TOF]| TN D DD,
SENRHEILCTCLIRLHEL TB0T, 77
ND#EZZEERINTWLLEbND, 72, 38
TEDMOPT, TXTUITHLNTWEDIRZOHETY
TTh 5, '

(10 TOF| Ti%, + 1, + 2%z 2 Licihz, +
SOWZ L LLIERTENT, + 32 TOHEBH»E N,
FNRREA, 4300l hoTwna, 2721,
FTNTHB4+413EHTHD, 2L, + 4 DK
PEEDATITb LI DI LRI,
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BB NRSEARL

ZOBTTTHTE L 3D ENFIZKDH 2 L DI,
£IMTHHH N, TOFTTHBRBEUNEHENELZ LTS
TNUHTEREE % B DOHIRB - 12,

(123 Tl T, [F70+1 | ofg¥zr 457
&, F7LOFEBL YT, F7L+ 10FEEHET
(%, HIOBILT, BRI b olz+ 4120w T
LIDFTTN+1DEZERAWSEZ L b, M5
FTOLDORFEEERLVES k> Twb, LrL, ¥
POLUEDL DIz OWTIR, PR NVBETESET LY
TThbizol, HERRIL TV, BERICHTCRE
Fobold, Mic7+5, 5+736Y0, ZOHEHL
Bl oTwnb,

[2F7enf0] Tk, BMOREEZ B EMTE
9FTOR) LN DL WHETHENT, 5FTD
FEEWIZ b+ 0 EXHBMENZRE, 12TH%
CHEEI RT3,

[18F T TiE, F7L—1L100»72F 0 %
BETLIEDL, STNEFD+1, -1 THINA
BEIRL S LEICHEEY»EDL T3,

6. NXEREIZDOWT

CITWOXERE, R LENEEY CETEL
TPHMBEV O ERTHE) ZLIcT 5,
NEBIIGY R UWEL2IELZ t 0 bthg ), XE
KHENEZ 2L T2, Hlzid XD DTH 2
2K IVES, 1EDOXKIR-TEFL72%
HTImIcL ) F L7, J&w) XELEL NI L1
D, F72 KK D& Hiz, RERLH»L, &%
WE, WEBEIEVHIT2HHELH 5, ZOWERIIH
BEMOBE A BEL THELNTWED, LEZWwics
BFOMFELIELE B L) iIck - T, WMOMEIC
N, SO0, 200RULIELEIDEL L
WIZERL, ENBLWEEZ LN TWENTH B,

<H15>

B4 THRE L) 2B Eh b, 52 bniXC
EL2HARY), TOXECEIRNLEZ 2 BEHLT
W kv, XEHEEPB(REANLEA TN, XE
DNFE, BAHHIKIRTTH B,

D EEDRENEKIZ, U
xEOYEY, LENKL
Bhrrio, KECERRM
BLBRY EFLns, #lz
B TXL3ALRBE6TIR
FLiz, #F0 & 5 1RV
HENF L7, | <KH16> L
DI, HILLLT e e
[T BTL ¢ ) : A
B fAIMFE - T FTh, <16
DELLDLHTE YD & B
KLDTHD,

10F TOMDIGHEIZ L % &, 3EH 2BMEOTESR
LEBTL (=) TRE6ETT, 7 Fla=) 7L
1EELTT, 7> 7y FED2RELETT, T
BAMETL 2 ) h. ] <BEID v 2RETH 5,

Ring the correct question.

How manyw are
there in all?

Maria is 6 yeors old.
Ted is | year older than Maria.
Ann is 2 years older than Ted.

How old is Ann? years old

17>

Z oM, FARMEIrHEINTWE, THE
TXEEFBRESIWTHIRL, BLELESTTREY
TEE TN DTH B, FlIziE [0 =R A
TEIERFSTVE T, BHLREEDVAZE: 2B
TWET, HiizAH»A % 4B TwWF3, il
DA TCEFE-> TWaBTL LY I b H18
EWVIHRETH B,

Draw a line through the sentence
you do not need. Then solve.

1. Rosita has 3 red apples.

She has 2 green apples. oL ’ Ay TRy

--She hasH-eranges:-- e, ATIETEES AR
How many apples does she 3 + 2 — 5
have in all?

<X18>

27l LENDEBICAL L, XEEIETLY
Gl 7%k, £ NIZ, REL N 2T 2REIHT
(B, [AT)—BAFEZ 4 OF->TnE T, Hidd
I228bnE L, HRids, AEXWOFH-T
WE T ORIV LT, E2 % (60, 618, 2
i ] o HBIRT 2 L9 %, HENICHb»LKIEL
B @19 L HF o733k ol Tar
21> FOBMELERE LI, W(L{HWELLT
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KREOHMEIC BT 2E 1 EENL LEOHR

Li )t dfvicxt L T& 2% 40> b ¢ hHn,
50> b ¢ HW] DL LBIRT 5 &) wtafini:
LET, RMELY 247 HE L@ 20 L H 2,
ORI OW TR IERELE 2 & LT [33421=54,
B254> b | BRDHEFTWD,

Mary had Y dolis.
She got 2 more.
How many dolls does she hove now?

About how much money did
Lou spend? ’

Add the tens. 33 +21= 54
3tens + 2tens = 5tens
30 +20= 50

Exact answer ﬂ ¢

<20>

BOEMXNDH LI LEICAS E, XEBITIIEA
e d, REL N 2T MBI AL H 5720 TH
5, RIZL, PITERLNRIZ DL > T 8D
N5 3 DU DR %K 5 BB A% ) I
EFonTna, BIZE TIEDNATHH) £,

SADFELHVET, TFELIEW2TONATER
LH)IENTELTLE IP] EVHBWIENLT
i, 2D L&) A BEEREAYDHRECLY, 3ME
EVIBEZFBEERLAEIC, 3+3+3=920n)
LENAREINLT TN,

6. ¥ H W IC

BALT X OBENENE, 2 LEDHES
BB T, ETLRELBEVEAEAHLL,

B2 LERNDEER S 7 NOFENFNTH B,
TANHTIE2ME, 7320801 %0 DELHHH
EEFBICBWTHEEICHVLND, 2Ok 7TL
(248) V) LDZTRFIICER- TWBDEA S,
F72, ABUIIRY BT et - 720, B1EZEL LK
(2401, 38N, 4401 7% o HEHMEY
L) #¥BL TN DLINHTH D,

&% - 5 BNED
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